W01 Brake Motor

Three-phase Electric Motor

B T [ueg

Motors | Automation | Energy | Transmission & Distribution | Coatings



Efficiency and reliability for the industry




Motor Details

www.weg.net m B g

1 Sealing system 8 Fan

2 Endshields 9 Brake system
3 Bearings 10 Cable Glands
4 Shaft Terminal box
5 Rotor Frame

6 Stator Foot

7 Fan cover

Shaft key




m E g www.weg.net

W01 Brake Motor

The W01 motor line has been designed to accomplish a brake system and meets the requirements

of these applications. The brake motors line provides a safety stopping in a short period of time.

This is because the brakes are locked with springs and electrically released. It also provides the brake
operation when failures are presented, such as interruption or failure on the power supply, so the brake
will hold the load as protection.

_____________________

Featuring a braking system with high torque and durability, the W01 Brake
Motor is ideal for equipment that requires fast stops for safety, accurate
positioning and time saving.

Conveyors Food and beverage
Packaging Crane & hoist
Mining Cement & aggregate

Material handling

_______________________________________________________________________________

4 | WO1 Brake Motor



www.weg.net m B g

Features
Standard Optional
Three-phase Mounting: F2, F3 flanges, footless, vertical
Rated output: 0.25 HP to 25 HP Degree of Protection: IP21 (ODP) / IP44 (TEAO/TENV)
Number of Poles: 2, 4 and 6 Frequency: 50Hz
Frame size: W56 to 254/6T Voltage: 575 V and others
Frequency: 60 Hz Vibration level: Degree B (According to NEMA MG-1)
Voltage: 208-230/460 V Winding thermal protection: thermostat or thermistor
Brake power supply: Same as motor (without bridge rectifier) Space heater
Normally closed brake Cable gland
Design: B (High Efficiency or NEMA Premium Efficiency) Insulation class: “H”
A (Standard Efficiency) AEGIS ring inside on the DE

Insulation class: F (DT 80K)

Cooling method: TEFC (Totally Enclosed Fan-Cooled)
ODP (Open Drip Proof)
TEAO (Totally Enclosed Air Over)
TENV (Totally Enclosed Non-Ventilated)

Degree of protection: IP55 (TEFC)

Mounting: F1

Ambient Temperature : -20 °C up to 40 °C

Frame material: Rolled steel

Terminal box material: Aluminium

Fan material: Plastic (non aplicable for ODP motors)

Fan cover material: Aluminium (for TEFC motors)

Shaft material: Steel SAE 1040/45

Ball bearings

DE bearing seal: V-ring

NDE bearing seal: Lip seal

Painting plan: 207A, classified as corrosion category C2,

according to ISO 12944:2

Vibration level: Degree A (According to NEMA MG-1)

Motors are inverted rated (Brake wired independently)

WO01 Brake Motor | 5



m E g www.weg.net

WO01 Brake Motors

To define the brakes, you need to consider the braking torque according to motor frame size, output and the number of poles. You can see
available motors versus output and the number of poles in Electric Tables (page 10). Below, the brakes models are described according to its
frame sizes and motor cooling system.

Models of the brakes according to the size and rated torque for TEFC motors

6

r:fu S:)ll):sr Output (HP) Frame Brakl(r;t?"t;))rque :\)lfu ;?:; Output (HP) Frame Brakl(r;t?“t)())rque
0.25 48 0.16 48
0.25 W56 0.16 W56
0.25 56 0.25 48
0.33 48 0.25 W56
0.33 W56 0.25 56
0.33 56 0.33 48 3
0.5 48 0.33 W56
0.5 W56 0.33 56
0.5 56 0.5 48
0.75 48 0.5 W56
0.75 W56 3 0.5 56
0.75 56 0.75 48
1.0 48 0.75 W56
1.0 W56 4 0.75 56
1.0 56 1.0 48 6
1.0 143/5T 1.0 W56
2 15 48 1.0 56
15 W56 1.0 143/5T
15 56 1.5 56
1.5 143/5T 1.5 143/5T 10
2.0 56 2.0 56
2.0 143/5T 2.0 143/5T
3.0 56 6 3.0 182/4T 15
3.0 143/5T 5.0 182/4T 25
3.0 182/4T 7.5 213/5T 35
5.0 182/4T 10 10 213/5T 50
7.5 182/4T 15 15 254/6T 75
7.5 213/5T o5 20 254/6T 105
10 213/5T 0.16 48
15 213/5T 35 0.16 W56
15 254/6T 0.25 48
20 254/6T 50 0.25 W56
25 254/6T 0.25 56
0.33 48 3
0.33 W56
0.33 56
0.5 48
0.5 W56
6 0.5 56
0.75 56
1.0 56 6
1.0 143/5T
1.5 182/4T 10
2.0 182/4T 15
3.0 213/5T 25
5.0 213/5T 85
7.5 254/6T 50
10 254/6T 75

W01 Brake Motor




Models of the brakes according to the size and rated torque for ODP motors

www.weg.net m B g

2‘;’ S:)tl):sr Output (HP) Frame Brakl(rfltg.jltt)t))rque (I\)lfu ;:)ll):sr Output (HP) Frame Brakl(rfIEItt)())rque
0.25 48* 0.16 48
0.25 W56 0.16 W56
0.25 56 0.25 48
0.33 48 0.25 W56
0.33 W56 0.25 56
0.33 56 0.33 48 3
05 48 0.33 W56
0.5 W56 0.33 56
0.5 56 0.5 48
0.75 48 0.5 W56
0.75 W56 3 0.5 56
0.75 56 0.75 48
1.0 48 0.75 W56
1.0 W56 0.75 56
5 1.0 56 4 1.0 48 6
1.0 143/5T 1.0 W56
1.5 48 1.0 56
1.5 W56 1.0 143/5T
1.5 56 15 56
1.5 143/5T 1.5 143/5T 10
2.0 56 2.0 56
2.0 143/5T 6 2.0 143/5T
3.0 56 3.0 56 15
3.0 143/5T 3.0 182/4T
5.0 182/4T 10 5.0 182/4T 25
7.5 182/4T 15 7.5 213/5T 35
10 213/5T 25 10 213/5T 50
15 213/5T 35 15 254/6T 75
20 254/6T 50 20 254/6T 105
25 254/6T 0.16 48
0.16 W56
0.25 48
0.25 W56
0.25 56
0.33 48 3
0.33 W56
0.33 56
0.5 48
0.5 W56
6 0.5 56
0.75 56
0.75 56H
1.0 56 6
1.0 143/5T
1.5 182/4T 10
2.0 182/4T 15
3.0 213/5T 25
5.0 213/5T 35
7.5 254/6T 50
10 254/6T 75

W01 Brake Motor |

7



m E g www.weg.net

Minimum distance to the wall

The minimum distance recommended of the W01 Brake motor to the wall or to any possible obstacles is in Table 1.
Is important to respect this recommendation because brakes require braking adjustments and changing on pieces for
maintaining its best performance.

N

Frame Brake Series W (inches)
48 48,100 3.96
56

143/5T 56,000 2.95

182/4T

213/5T

87,000 4.69
254/6T

Table 1 - Minimum distance to the wall.

Nameplate

The nameplate supplies information determining motor construction and performance characteristics. The line name is
given on the first line of the nameplate together with nominal efficiency levels as required by NEMA MG1.

1 - Motor code

2 - Three-phase

3 - Rated operating voltage
4 - Service duty

5 - Efficiency

6 - Frame size

7 - Enclosure

8 - Insulation class

9 - Temperature rise

10 - Design

11 - Frequency

12 - Motor rated power

13 - Full load speed (rpom)
14 - Rated operating current

8 | WO1 Brake Motor

Figure 1 — Minimum distance to the wall.

n@us L1TED C@ﬁ"s 9

FOR SAFE AREA

For 60Hz: Class |, Zone 2, IIC
Class |, Div.2, Gr. AB,CD-T3

25 19 nluzmumernw[sn_un)‘_zg
CT Z:1VT 100021

2 HP{KW) 0.50{0.37) T JHz 60 [l

3 mp|V 230/460 RPM 1730 24710 _|

14 wep| A 1.79/0.896 N —|DUTY CONT.
23 SFA 2.06/1.03 o ~ " JCODE K |DES J IP55
17 SF1.15 NS CL F AT 80K JANB 40°C_ |[ENCL TEFC

NEMA NOM.EFF. 72.0%

15

1—27
V-

PF 0.72

<16

5

18 mpy
26 m—p

ALT 1000 m.as.. [USABLE @ 208V 1.98A SF1.00

e 28

21

19 s
e

: Motor must be grounded In accordance with local and natlonal
felectrical codes to prevent serlous

ALTERNATE RATING: 0.50HP 50Hz 190-220/380-415V SF1.00
2.04-1.98M.02-1.05A 1400RPM EFF 67.0% (IE1) IEC 800341
IT-i ITS ITB T4 15 _T6 TIBLU  T2WHT
0] I% T3-ORG T4-YEL
.)%fj J7 o8 O el &8 &9 T58IK  TE-GRY
= T2 T7-PNK  TA-RED
—'g T1 AT2 AJ3 g T1 2T2 T3 T9-BRK RED
YY1 L2 3] YL L3

INTERCHANGE ANY TWO LINE WIRES TO REVERSE THE ROTATION
For safe areadnverter duty For 60Hz use on YPWM 1000:1 VT, 10:1 CT

32ZZ |ODE: 620222 |MOBIL POLYREX EM| e 20

[source before servicing unit.

[AVERTISSEMENT: Ls moteur dolt dtre mis A (a terre conformémant
loux codes Electrigues locaux ¢t nationaux atin ¢'éviter tout choc
fetectr

shocks. D power

avant [ de la

grave.

Figure 2 — Nameplate layout for frames 143T to 215T

15 - Power factor

16 - Ambient temperature

17 - Service factor

18 - Altitude

19 - Drive end bearing and Non-drive end bearing specification
20 - Type of grease for bearings

21 - Connection diagram

22 - Certification labels

23 - Service factor current

24 - NEMA code letters for locked rotor kVA
25 - Model

26 - Derating 50 Hz

27 - Degree of protection

28 - Current at 208 V



www.weg.net m B g

Performance Data
WO01 Brake - TEFC- Standard Efficiency - Three-phase - 60 Hz

Full Locked | Break- Allowable 1000
Output Lol:m Lo%ked ol Rotor | down |Inertia J [locked rotor) Total | oo . o % of full load : _ Bearings
IREIIE Torque rent Torque | Torque | (sq.ft.lb)| time (s) Welght Factor ::;Zgl Efficienc: Power Factor i:lilnrrlgﬁg Ol
(ft.Ib) TI/Tn | Tb/Tn (1) (rpm) / In (A)
HP | kw Code] Il/in Hot | Cold 50 [ 75 [100] 50 | 75 | 100 DE NDE
Il Poles
0.25/0.18| W56 | 0.380 | L 6.0 2.8 3.0 0.0126 | 34 | 75 191 115 3430 | 48.0 | 57.5 | 59.5 | 0.62 | 0.71 | 0.78 0.487 |14.232| 5118 | 620327Z | 6202 2Z
0.33]0.25| W56 | 0.500 | L 6.1 2.9 3.0 0.0126 | 28 | 62 19.1 1.15 3425 | 52.5 | 59.5 | 62.0 | 0.60 | 0.70 | 0.77 0.657 |14.232| 5.118 | 6203ZZ | 620272
0.5 {0.37| W56 | 0.760 | K | 6.3 29 2.9 0.0147 | 20 | 44 19.9 115 3400 | 59.5 | 66.0 | 68.0 | 0.61 | 0.73 | 0.80 0.854 |14.625| 5.512 | 6203ZZ | 620277
0.75/0.55| W56 | 1.14 K 6.9 3.0 3.0 0.0169 | 14 | 31 20.8 115 3400 | 66.0 | 70.0 | 72.0 | 0.64 | 0.76 | 0.83 116 |14.625| 5.512 | 6203 ZZ | 620227Z
1 10.75| W56 | 1.52 L 7.7 3.3 3.2 0.0211 | 11 | 24 22.6 1.15 3405 | 70.0 | 740 | 740 | 0.66 | 0.77 | 0.84 1.51 15.019| 5.906 | 6203 ZZ | 6202 7Z
1.5 11 | W56 | 2.26 L 8.5 3.8 3.7 0.0294| 9 | 20 26.3 115 3435 | 74.0 | 770 | 77.0 | 0.64 | 0.77 | 0.84 213 |15.807| 6.693 | 6203 ZZ | 6202 ZZ
2 | 15| 56H 2.98 K 7.7 2.3 2.9 0.0963 | 11 | 24 401 1.15 3475 | 755 | 785 | 80.0 | 0.76 | 0.86 | 0.90 2.62 |17.771| 7.480 | 6204 ZZ | 6202 7Z
3 [ 22| 56H 4.47 K | 85 2.7 2.8 01279 | 6 | 13 4741 1.15 3480 | 80.0 | 81.5 | 81.5 | 0.76 | 0.86 | 0.90 3.76 |18.559| 8.268 | 6204 ZZ | 620277
Optional
0.250.18| 48 0380 | L 6.0 2.8 3.0 0.0126 | 34 | 75 19.1 115 3430 | 48.0 | 57.5 | 59.5 | 0.62 | 0.71 | 0.78 0.487 |13.858| 5.118 | 62037Z | 6202 2Z
0.25(0.18| 56 |0.370 | L 6.4 2.5 3.0 0.0389 | 60 | 132 | 26.2 1.15 3475 | 46.0 | 52.5 | 57.5 | 0.75 | 0.82 | 0.86 0.457 |15.803| 5.512 | 6203 ZZ | 6202 ZZ
0.33]0.25| 48 0.500| L 6.1 29 3.0 0.0126 | 28 | 62 191 115 3425 | 52.5 | 59.5 | 62.0 | 0.60 | 0.70 | 0.77 0.657 |13.858| 5.118 | 6203ZZ | 620277
0.33/0.25| 56 |0.490| L 6.4 2.5 3.0 0.0389 | 40 | 88 26.2 1.15 3485 | 48.0 | 57.5 | 62.0 | 0.72 | 0.79 | 0.84 0.602 |15.803| 5.512 | 6203ZZ | 620222
0.5 (0.37| 48 0760 | K | 6.3 2.9 2.9 0.0147 | 20 | 44 19.9 1.15 3400 | 59.5 | 66.0 | 68.0 | 0.61 | 0.73 | 0.80 0.854 |14.251| 5.512 | 6203ZZ | 620272
051|037 56 |0740| L | 7.0 2.6 3.0 |0.0453| 35| 77 | 28.0 115 | 3500 | 55.0 | 62.0 | 68.0 | 0.67 | 0.75 | 0.81 0.843 |16.196| 5.906 | 6203 ZZ | 6202 ZZ
075(055| 48 | 114 | K | 69 | 3.0 30 |00169| 14 | 31 | 20.8 | 115 | 3400 | 66.0 | 70.0 | 72.0 | 0.64 | 0.76 | 0.83 | 1.16 |14.251| 5512 | 62032Z | 620222
0.75|0.55| 56 112 K 7.0 2.5 2.9 0.0517 | 23 | 51 29.3 1.15 3475 | 62.0 | 68.0 | 72.0 | 0.70 | 0.79 | 0.85 113 16.196 | 5.906 | 6203 ZZ | 6202 ZZ
1 10.75| 48 1.52 L 7.7 3.3 3.2 0.0211 | 11 | 24 22.6 115 3405 | 70.0 | 740 | 740 | 0.66 | 0.77 | 0.84 1.51 14.645| 5.906 | 620377 | 620277
1 (0.75| 56 1.49 K 7.2 2.4 2.9 0.0643 | 24 | 53 32.4 1.15 3480 | 66.0 | 72.0 | 74.0 | 0.68 | 0.79 | 0.84 1.51 16.590 | 6.300 | 6204 ZZ | 6202 ZZ
1.5 11 48 2.26 L 8.5 3.8 3.7 0.0294| 9 | 20 26.3 1.15 3435 | 74.0 | 770 | 77.0 | 0.64 | 0.77 | 0.84 213 |15.433]| 6.693 | 6203 ZZ | 6202 ZZ
15 | 11 56 2.25 J 7.2 2.4 2.7 0.0771 | 12 | 26 35.1 1.15 3460 | 72.0 | 755 | 77.0 | 0.76 | 0.85 | 0.90 1.99 |16.984| 6.693 | 6204 ZZ | 6202 ZZ
2 |15 56 2.98 K 7.7 2.3 2.9 0.0963 | 11 | 24 401 1.15 3475 | 755 | 78.5 | 80.0 | 0.76 | 0.86 | 0.90 2.62 |17.771| 7.480 | 6204 ZZ | 6202 7Z
3 |22 56 4.47 K | 85 2.7 2.8 01279 | 6 | 13 4741 1.15 3480 | 80.0 | 81.5 | 81.5 | 0.76 | 0.86 | 0.90 3.76 |18.559| 8.267 | 6204 ZZ | 620277
IV Poles
0.16(0.12| W56 | 0.480 | L 5.1 2.4 2.9 0.0240 | 43 | 95 19.1 1.15 1735 | 50.5 | 59.5 | 62.0 | 0.48 | 0.58 | 0.67 0.363 |14.232| 5.118 | 6203ZZ | 620272
0.25/0.18| W56 | 0.750 | K 53 2.4 2.9 0.0280 | 30 | 66 19.9 1.15 1735 | 55.0 | 62.0 | 66.0 | 0.48 | 0.59 | 0.68 0.503 |14.625| 5.512 | 620377 | 620277
0.33/0.25| W56 | 0.990 | K 5.4 2.3 2.7 0.0318 | 21 | 46 20.8 1.15 1730 | 57.5 | 64.0 | 68.0 | 0.48 | 0.60 | 0.70 0.659 |14.625| 5.512 | 6203 ZZ | 6202 ZZ
0.5 {0.37| W56 | 1.50 K 6.0 2.6 2.8 0.0399 | 16 | 35 22.6 115 1730 | 62.0 | 70.0 | 72.0 | 0.49 | 0.62 | 0.72 0.896 |15.019| 5.906 | 6203ZZ | 620222
0.75(0.55| W56 | 2.25 K | 6.5 2.7 2.9 0.0479 | 12 | 26 24.3 115 1730 | 68.0 | 74.0 | 755 | 0.52 | 0.65 | 0.75 1.22 |15.413| 6.300 | 6203 ZZ | 6202 ZZ
1 10.75| W56 | 3.00 K | 69 2.9 29 0.0598 | 9 | 20 27.2 1.15 1725 | 70.0 | 755 | 77.0 | 0.53 | 0.66 | 0.76 1.61 16.200| 7.087 | 6203 ZZ | 62027Z
1.5 (11 | 56H | 4.44 K 75 2.5 3.0 01037 | 9 | 20 40.3 1.15 1750 | 77.0 | 80.0 | 81.5 | 0.54 | 0.67 | 0.76 2.23 |17.771| 7.480 | 6204 ZZ | 6202 7Z
2 [ 15| 56H | 5.94 K 7.3 2.4 2.7 01232 | 8 18 449 1.15 1745 | 80.0 | 81.5 | 82.5 | 0.58 | 0.72 | 0.80 2.85 |18.165| 7.874 | 6204 ZZ | 620272
Optional
0.16(0.12| 48 0480 | L 5.1 2.4 2.9 0.0240 | 43 | 95 19.1 1.15 1735 | 50.5 | 59.5 | 62.0 | 0.48 | 0.58 | 0.67 0.363 |13.858| 5.118 | 620377 | 620277
0.25/0.18| 48 0.750 | K 5.3 2.4 2.9 0.0280 | 30 | 66 19.9 1.15 1735 | 55.0 | 62.0 | 66.0 | 0.48 | 0.59 | 0.68 0.503 |14.251| 5.512 | 6203ZZ | 620277
0.25/018| 56 |0.730| M | 6.3 2.4 3.0 |0.0453| 38 | 84 | 271 115 | 1765 | 57.5 | 66.0 | 70.0 | 0.43 | 0.54 | 0.62 | 0.521 |15.803| 5.512 | 6203 ZZ | 6202 ZZ
0.33]0.25| 48 0990 | K 5.4 2.3 2.7 0.0318 | 21 | 46 20.8 1.15 1730 | 57.5 | 64.0 | 68.0 | 0.48 | 0.60 | 0.70 0.659 |14.251| 5.512 | 6203ZZ | 620272
0.33|0.25| 56 |0.970 | M 71 2.3 3.0 0.0517 | 31 | 68 28.4 1.15 1765 | 64.0 | 72.0 | 74.0 | 0.47 | 0.58 | 0.68 0.624 [16.196 | 5.906 | 6203 ZZ | 6202 ZZ
0.5(0.37| 48 150 | K | 6.0 2.6 28 [0.0399| 16 | 35 | 226 1.15 1730 | 62.0 | 70.0 | 720 | 0.49 | 0.62 | 0.72 | 0.896 |14.645|5.906 | 6203 ZZ | 6202 ZZ
0.5 (0.37| 56 1.47 L 7.0 2.4 3.0 0.0584 | 20 | 44 29.9 1.15 1760 | 68.0 | 74.0 | 77.0 | 0.48 | 0.61 | 0.70 0.862 |16.196 | 5.906 | 6203 ZZ | 6202 ZZ
0.75]0.55| 48 2.25 K | 65 2.7 2.9 0.0479 | 12 | 26 24.3 115 1730 | 68.0 | 74.0 | 755 | 0.52 | 0.65 | 0.75 1.22  |15.039| 6.300 | 6203 ZZ | 6202 ZZ
0.75/0.55| 56 2.21 K | 6.9 2.4 3.0 0.0648 | 17 | 37 31.5 115 1755 | 72.0 | 77.0 | 785 | 0.48 | 0.61 | 0.72 1.22 |16.590| 6.300 | 6203 ZZ | 6202 ZZ
1 10.75| 48 3.00 K 6.9 2.9 2.9 0.0598 | 9 | 20 277 1.15 1725 | 70.0 | 75.5 | 77.0 | 0.53 | 0.66 | 0.76 1.61 15.826| 7.087 | 6203ZZ | 620277
1 (0.75| 56 294 | M 7.7 2.7 3.0 0.0842 | 12 | 26 36.0 1.15 1760 | 74.0 | 78.5 | 80.0 | 0.48 | 0.62 | 0.71 1.66 |16.984| 6.693 | 6204 ZZ | 6202 ZZ
1.5 | 11 56 4.44 K 7.5 2.5 3.0 01037 | 9 | 20 39.3 115 1750 | 77.0 | 80.0 | 81.5 | 0.54 | 0.67 | 0.76 2.23 |17.771| 7.480 | 6204 ZZ | 62027Z
2 |15 56 5.94 K| 73 2.4 2.7 01232 | 8 18 43.9 115 1745 | 80.0 | 81.5 | 82,5 | 0.58 | 0.72 | 0.80 2.85 |18.165| 7.874 | 6204 ZZ | 6202 7Z
VI Poles
0.16(0.12| W56 | 0.730 | J 3.9 1.9 2.5 0.0280 | 43 | 95 19.9 1.15 1135 | 46.0 | 55.0 | 59.5 | 0.45 | 0.56 | 0.65 0.389 |14.625| 5.512 | 6203ZZ | 620272
0.25(0.18| W56 | 1.14 J 4.2 2.0 2.5 0.0358 | 26 | 57 21.7 1.15 1135 | 50.5 | 59.5 | 62.0 | 0.45 | 0.56 | 0.65 0.561 |15.019| 5.906 | 6203 ZZ | 620222
0.33/0.25| W56 | 1.51 H | 41 1.8 2.3 0.0439 | 22 | 48 23.5 115 1130 | 55.0 | 62.0 | 64.0 | 0.48 | 0.59 | 0.69 0.711 |15.413| 6.300 | 620377 | 620277
0.5(0.37| W56 | 2.29 H 4.4 2.0 2.4 0.0558 | 17 | 37 26.3 115 1130 | 59.5 | 66.0 | 68.0 | 0.47 | 0.59 | 0.69 0.990 |15.807| 6.693 | 6203ZZ | 6202 2Z
0.75|0.55| 56H | 3.36 K | 5.8 288 3.0 01331 | 21 | 46 38.5 1.15 1155 | 70.0 | 740 | 75.5 | 0.46 | 0.59 | 0.68 1.34 |17.377| 7.087 | 6204 ZZ | 6202 ZZ
1 (0.75| 56H | 4.52 d 5.6 2.1 2.6 0.1597 | 15 | 33 427 1.15 1145 | 72.0 | 75.5 | 77.0 | 0.50 | 0.63 | 0.73 1.67 |18.165| 7.874 | 6204 ZZ | 6202 ZZ
Optional
016012 | 48 0730 | J 3.9 1.9 2.5 0.0280 | 43 | 95 19.9 115 1135 | 46.0 | 55.0 | 59.5 | 0.45 | 0.56 | 0.65 0.389 |14.251| 5.512 | 6203ZZ | 620277
0.25/0.18| 48 114 J 4.2 2.0 2.5 0.0358 | 26 | 57 21.7 115 1135 | 50.5 | 59.5 | 62.0 | 0.45 | 0.56 | 0.65 0.561 |14.645| 5.906 | 620377 | 620277
0.25/0.18| 56 112 K 5.1 2.3 3.0 0.0710 | 46 | 101 | 28.1 115 1160 | 55.0 | 64.0 | 68.0 | 0.41 | 0.52 | 0.61 0.545 |16.196| 5.906 | 6203 ZZ | 6202 ZZ
0.33]0.25| 48 1.51 H 41 1.8 2.3 0.0439 | 22 | 48 23.5 1.15 1130 | 55.0 | 62.0 | 64.0 | 0.48 | 0.59 | 0.69 0.711 |15.039| 6.300 | 6203ZZ | 620272
0.33|0.25| 56 1.47 L 55 2.4 3.0 0.0888 | 36 | 79 30.1 1.15 1160 | 59.5 | 68.0 | 70.0 | 0.42 | 0.53 | 0.62 0.723 [16.590| 6.300 | 6203 ZZ | 6202 ZZ
0.5 (0.37| 48 2.29 H 4.4 2.0 2.4 0.0558 | 17 | 37 25.3 115 1130 | 59.5 | 66.0 | 68.0 | 0.47 | 0.59 | 0.69 0.990 |15.433| 6.693 | 62037Z | 6202 2Z
0.5 (0.37| 56 2.23 K 5.4 2.1 3.0 0.1065 | 22 | 48 337 1.15 1160 | 64.0 | 70.0 | 72.0 | 0.44 | 0.56 | 0.65 0.992 |16.984| 6.693 | 6203 ZZ | 6202 ZZ
0.75|0.55| 56 3.36 K 5.8 2.3 3.0 01331 | 21 | 46 38.5 115 1155 | 70.0 | 74.0 | 75.5 | 0.46 | 0.59 | 0.68 1.34 |17.377| 7.087 | 6203 ZZ | 6202 ZZ
1 10.75| 56 4.52 J 5.6 21 2.6 0.1597 | 15 | 33 727 1.15 1145 | 72.0 | 755 | 77.0 | 0.50 | 0.63 | 0.73 1.67 |18.165| 7.874 | 6204 ZZ | 6202 ZZ

1) The full load current values for 230 V can be calculated multiplying by 2 the full load current value by 460 V.

WO01 Brake Motor | 9



|.|_.| E g www.weg.net

W01 Brake - TEFC - High Efficiency - Three-phase - 60 Hz

Il Poles

1 10.75| 143/5T | 1.48 79 | 23 33 00275 | 22 48 35 115 | 3510 | 70.0 | 75.5 | 77.0 | 0.69 | 0.80 | 0.86 | 1.42 | 17.840 | 7.480 | 6205ZZ | 6203 ZZ
1.5 | 1.1 | 143/5T | 2.23
2 | 1.5 | 143/5T | 2.96
3 | 22 | 182/4T | 443
5 |37 | 18241 | 7.41
75|55 |213/5T | 11.0
10 | 7.5 | 213/5T | 147
15 | 11 | 254/6T | 221
20 | 15 | 254/6T | 29.5
25 |18.5| 254/6T | 36.7

8.1 27 30 | 00358 | 17 37 38 115 | 3480 | 77.0 | 81.5| 825| 0.72 | 0.83 | 0.88 | 1.90 | 17.840 | 7.480 | 6205ZZ | 6203 ZZ
85 | 28 35 | 00465 | 14 31 44 115 | 3500 | 82.5 | 84.0 | 84.0 | 0.71 | 0.82 | 0.88 | 2.55 | 18.234 | 7.874 | 6205ZZ | 6203 ZZ
83 | 23 35 | 01391 | 27 59 68 115 | 3510 | 82.5 | 85.5 | 85.5 | 0.69 | 0.80 | 0.85 | 3.80 | 21.261 | 8.661 | 6206ZZ | 62052ZZ
74 | 21 34 01739 | 16 35 7 115 | 3495 | 86.5 | 87.5 | 87.5 | 0.74 | 0.84 | 0.89 | 5.96 | 21.655 | 9.055 | 6206ZZ | 62052ZZ
70 | 24 31 |04665 | 13 29 141 115 | 3525 | 86.5 | 88.5 | 88.5 | 0.75 | 0.84 | 0.89 | 8.76 | 27.736 | 10.630 | 6208 ZZ | 6206 ZZ
6.7 | 22 28 | 05496 | 10 22 156 | 1.15 | 3520 | 88.5 | 89.5 | 89.5 | 0.75 | 0.84 | 0.89 | 11.8 | 28.524 | 11.417 | 6208 ZZ | 6206 ZZ
66 | 19 28 | 0.705 12 26 181 | 1.15 | 3520 | 87.5 | 89.5 | 90.2 | 0.68 | 0.79 | 0.85 | 18.0 | 30.454 | 12.992 |6309 Z-C3 | 6208 Z-C3
63 | 19 26 1.05 12 26 216 | 1.15 | 3515 | 90.2 | 91.0 | 90.2 | 0.78 | 0.86 | 0.89 | 23.5 | 30.454 | 12.992 | 6309 Z-C3 | 6208 Z-C3
83 | 24 34 1.31 8 18 245 | 1.15 | 3530 | 91.0 [ 91.7 | 91.0 | 0.77 | 0.85 | 0.89 | 28.7 | 32.242 | 13.780 | 6309 Z-C3 | 6208 Z-C3

- ®© T ®© T T X XN X X

Optional

3 | 22| 143/5T | 447 J 84 | 27 3.3 | 0.1407 9 20 53 115 | 3480 | 84.0 | 85.5 | 85.5 | 0.78 | 0.87 | 0.91 | 3.55 | 19.021 | 8.661 | 6205ZZ | 6203 ZZ
75|55 | 182/4T | 11.2 J 80 | 27 36 | 01913 | 19 42 88 115 | 3480 | 88.5 | 89.5 | 88.5 | 0.77 | 0.86 | 0.90 | 8.67 | 22.049 | 9.449 | 6206ZZ | 620527Z
15 | 11 | 213/5T | 2241 J 82 | 28 3.3 | 0.6341 1 24 178 | 115 | 3520 | 90.2 | 91.0 | 90.2 | 0.76 | 0.85 | 0.89 | 17.2 | 29.858 | 12.992 | 6208 ZZ | 6206 ZZ

IV Poles
1 10.75| 143/5T | 2.94 L 76 29 3.5 | 0.0973 18 40 4 1.15 | 1760 | 78.5 | 82.5 | 825 | 0.50 | 0.64 | 0.73 | 1.56 | 17.840 | 7.480 | 6205ZZ | 6203 ZZ
1.5 | 1.1 | 143/5T | 4.42 K 7.8 2.7 3.4 | 01232 13 29 46 1.15 | 1760 | 815 | 84 | 84.0 | 053 | 0.67 | 0.76 | 2.16 | 18.234 | 7.874 | 6205ZZ | 6203 ZZ
2 | 15| 143/5T | 5.90 K 75 26 33 | 01419 10 22 51 115 | 1755 | 815 | 84 | 84.0 | 053 | 0.67 | 0.76 | 2.95 | 19.021 | 8.661 620577 | 62037z
3 | 22| 182/4T | 8.83 K 7.7 2.4 35 |0.293 | 16 35 73 1.15 | 1760 | 85.5 | 87.5 | 87.5 | 0.58 | 0.71 | 0.78 | 4.05 | 21.261 | 8.661 6206 ZZ | 6205277
5 | 37 | 18241 | 148 J 72 | 20 30 | 0369 | 8 18 8 | 1.15 | 1750 | 86.5 | 87.5 | 87.5 | 0.61 | 0.74 | 0.81 | 6.55 | 23.836 | 10.236 | 6206ZZ | 6205ZZ
7.5 |55 | 213/5T | 22.0 H 71 2.3 29 1.07 1" 24 146 1.15 | 1765 | 88.5 | 89.5 | 89.5 | 0.67 | 0.79 | 0.85 | 9.07 | 27.736 | 10.630 | 6208 ZZ | 6206 ZZ
10 | 7.5 | 213/5T | 29.5 H 6.8 2.1 2.6 1.29 8 18 162 1.15 | 1755 | 89.5 | 89.5 | 89.5 | 0.72 | 0.82 | 0.87 | 121 28.918 | 11.811 | 62087Z | 6206 ZZ
15 | 11 | 254/6T | 44.2 H 6.4 22 2.8 1.65 " 24 197 | 115 | 1760 | 89.5 | 90.2 | 91.0 | 0.63 | 0.75 | 0.81 18.7 | 31.454 | 12.992 | 6309 Z-C3 | 6208 Z-C3
20 | 15 | 254/6T | 58.9 G 5.9 21 2.7 215 12 26 233 | 1.15 | 1760 | 91.0 | 91.0 | 91.0 | 0.67 | 0.78 | 0.83 | 24.9 | 31.454 | 12.992 | 6309 Z-C3 | 6208 Z-C3
VI Poles
1 10.75| 143/5T | 4.52 K 6.3 2.7 3.2 [01037 | 31 68 44 115 | 1145 | 77.0 | 80.0 | 80.0 | 0.49 | 0.62 | 0.71 166 | 17.840 | 7.480 | 6205ZZ | 6203 ZZ
15 | 1.1 | 182/4T | 6.64 K 6.9 21 3.2 |04786 | 32 70 79 1.15 | 1170 | 81.5 | 84.0 | 85.5 | 0.50 | 0.62 | 0.71 | 2.27 | 22.049 | 9.449 | 6206 ZZ | 6205ZZ
2 | 15| 182/4T | 8.86 M | 84 | 26 37 | 05657 | 20 44 89 | 1.15 | 1170 | 82.5 | 85.5 | 86.5 | 0.47 | 0.60 | 0.69 | 3.15 | 22.836 | 10.236 | 6206ZZ | 6205ZZ
3 | 22| 213/5T | 132 H 6.2 23 2.8 | 08104 | 36 79 123 115 | 1175 | 855 | 87.5 | 87.5 | 0.53 | 0.66 | 0.74 | 4.26 | 27.342 | 10.236 | 62087ZZ | 6206 ZZ
5 |37 |213/5T| 220 J 6.4 25 2.8 1.08 20 44 146 1.15 | 1175 | 86.5 | 87.5 | 87.5 | 0.55 | 0.68 | 0.75 | 7.08 | 27.736 | 10.630 | 6208 ZZ | 6206 ZZ
7.5 | 5.5 | 254/6T | 33.1 G 55 22 24 1.84 27 59 202 | 1.15 | 1175 | 87.5 | 89.5 | 89.5 | 0.55 | 0.67 | 0.74 | 10.4 | 31.454 | 12.992 | 6309 Z-C3 | 6208 Z-C3
10 | 7.5 | 254/6T | 441 G 615} 22 24 217 20 44 224 | 115 | 1175 | 88.5 | 89.5 | 89.5 | 0.56 | 0.68 | 0.75 14 31.454 | 12.992 | 6309 Z-C3 | 6208 Z-C3

1) The full load current values for 230 V can be calculated multiplying by 2 the full load current value by 460 V.

10 | WO1 Brake Motor



www.weg.net m B g

W01 Brake Motor - TEFC - Premium Efficiency - Three-phase - 60 Hz

460V
OB e o e o | g ln?:qi?J AIlfl:?‘a’f:btlie:ﬂltgc(:)ed M};t;l]t Service! Rated e ortiioad Fuload G o) | Fom)|
Torque Torque | Torque ftlb) (Ib) Factor | speed Efficiency Power Factor current
e | kw ) s T | | ™ Hot | Cold ™™ 50 [ 75 [100 | 50 [ 75 [0 | "W DE | NDE
Il Poles
0.25 | 0.18 | W56 | 0.370 M 74 35 40 |0.0147| 30 66 206 | 1.15 | 3460 | 55.0 | 62.0 | 66.0 | 0.60 | 0.70 | 0.75 | 0.456 |14.625| 5.512 |6203 ZZ|6202 7Z
0.33 | 0.25 | W56 | 0.500 M 74 3.2 3.7 |0.0147| 28 62 206 | 1.15 | 3450 | 59.5 | 66.0 | 70.0 | 0.61 0.71 0.76 | 0.590 |14.625| 5.512 (6203 ZZ|6202 ZZ
0.5 | 0.37 | W56 | 0.750 L 7.7 3.3 3.6 |0.0190| 18 40 232 | 1.15 | 3435 | 680 | 720 | 740 | 0.64 | 0.75 | 0.80 | 0.784 |15.019| 5.906 |6203 ZZ|6202 ZZ
075|055 | Ws6 | 113 | L | 81 | 35 | 36 |0.0211| 16 | 35 | 242 | 1.15 | 3440 | 70.0 | 755 | 77.0 | 062 | 0.74 | 0.80 | 1.12 [15.019| 5.906 |6203 ZZ|6202 ZZ
1 0.75 | W56 | 1.51 M 8.8 3.6 3.8 |0.0254| 10 22 265 | 1.15 | 3435 | 740 | 770 | 785 | 0.63 | 0.75 | 0.80 | 1.50 |15.413| 6.300 |6203 ZZ|6202 ZZ
15 | 11 56 2.21 L 9.1 2.3 3.0 |0.1023| 17 37 464 | 115 | 3520 | 80.0 | 825 | 84.0 | 0.71 0.82 | 0.88 | 1.87 |17.771| 7.480 |6204 ZZ|6202 ZZ
2 1.5 56H 2.94 L 9.9 25 3.0 |0.1279| 13 29 49 1.15 | 3520 | 825 | 855 | 855 | 0.73 | 0.83 | 0.89 | 2.47 |18.559| 8.268 |6204 7Z|6202 ZZ
3 2.2 56H 4.44 K 9.5 3.0 3.8 |0.1663| 10 22 57 1.15 | 3500 | 84.0 | 8.5 | 8.5 | 0.78 | 0.87 | 0.91 3.51 |19.740 | 9.448 |6204 776202 7Z
Optional
0.25 | 0.18 48 0.370 M 74 35 40 |0.0147| 30 66 206 | 1.15 | 3460 | 55.0 | 62.0 | 66.0 | 0.60 | 0.70 | 0.75 | 0.456 |14.251 | 5.512 |6203 ZZ|6202 ZZ
0.33 | 0.25 48 0.500 M 74 3.2 3.7 |0.0147| 28 62 206 | 1.15 | 3450 | 59.5 | 66.0 | 70.0 | 0.61 0.71 0.76 | 0.590 |14.251 | 5.512 |6203 ZZ|6202 ZZ
05 | 037 48 0.750 L 7.7 3.3 36 |0.0190| 18 40 232 | 1.15 | 3435 | 680 | 720 | 740 | 0.64 | 0.75 | 0.80 | 0.784 |14.645| 5.906 |6203 ZZ|6202 ZZ
0.75 | 0.55 48 1.13 L 8.1 35 36 |0.0211| 16 35 242 | 115 | 3440 | 700 | 755 | 770 | 0.62 | 0.74 | 0.80 | 1.12 |14.645| 5.906 |6203 ZZ|6202 ZZ
1 0.75 48 1.51 M 8.8 3.6 3.8 |0.0254| 10 22 265 | 1.15 | 3435 | 740 | 770 | 785 | 0.63 | 0.75 | 0.80 | 1.50 |15.039| 6.300 |6203 ZZ|6202 ZZ
2 1.5 56 2.94 L 9.9 2.5 3.0 |0.1279| 13 29 49 1.15 | 3520 | 825 | 855 | 855 | 0.73 | 0.83 | 0.89 | 2.47 |18.559 | 8.267 |6204 ZZ|6202 ZZ
3 22 56 4.44 K 95 3.0 3.8 |0.1663| 10 22 57 1.15 | 3500 | 84.0 | 8.5 | 8.5 | 0.78 | 0.87 | 0.91 3.51 |19.740 | 9.449 |6204 776202 7Z
IV Poles
0.25 | 0.18 | W56 | 0.740 K 5.6 2.4 3.2 |0.0280| 28 62 202 | 1.15 | 1740 | 59.5 | 66.0 | 68.0 | 048 | 0.60 | 0.69 | 0.481 |14.625| 5.512 |6203 ZZ|6202 ZZ
0.33 | 0.25 | W56 | 0.980 L 6.2 2.6 35 |0.0358| 22 48 221 1.15 | 1740 | 66.0 | 720 | 740 | 046 | 0.58 | 0.68 | 0.624 |15.019 | 5.906 |6203 ZZ|6202 ZZ
0.5 | 037 | W56 | 1.50 J 6.4 23 31 ]0.0520| 20 44 265 | 1.15 | 1730 | 740 | 770 | 785 | 0.54 | 0.67 | 0.76 | 0.778 | 15.807 | 6.693 |6203 ZZ|6202 ZZ
0.75 | 0.55 56 2.21 L 7.7 2.4 3.6 |0.0842| 16 35 39.2 | 115 | 1760 | 755 | 80.0 | 815 | 049 | 062 | 0.71 1.19 |16.984 | 6.693 |6203 ZZ|6202 ZZ
1 0.75 56 2.94 M 8.6 2.8 3.0 |0.1232| 19 42 47 1.15 | 1765 | 825 | 840 | 855 | 0.52 | 0.66 | 0.75 | 1.47 |18.165| 7.874 |6204 7Z|6202 ZZ
15 | 1.1 56H 4.44 K 8.2 2.7 3.0 |0.1101| 21 46 57 1.15 | 1750 | 855 | 86.5 | 86.5 | 0.59 | 0.72 | 0.79 | 2.02 |18.165| 7.874 |6204 7Z|6202 ZZ
2 1.5 56H 5.94 K 8.2 2.7 3.0 |0.1296| 15 33 513 | 1.15 | 1745 | 855 | 87.5 | 86.5 | 0.60 | 0.73 | 0.80 | 2.72 |18.559 | 8.268 |6204 7Z|6202 ZZ
Optional
0.25 | 0.18 48 0.740 K 5.6 2.4 3.2 |0.0280| 28 62 202 | 1.15 | 1740 | 59.5 | 66.0 | 68.0 | 048 | 0.60 | 0.69 | 0.481 |14.251 | 5.512 |6203 ZZ|6202 ZZ
0.33 | 0.25 48 0.980 L 6.2 2.6 35 |0.0358| 22 48 221 1.15 | 1740 | 66.0 | 720 | 740 | 046 | 0.58 | 0.68 | 0.624 | 14.645| 5.906 |6203 ZZ|6202 ZZ
05 | 0.37 48 1.50 J 6.4 23 3.1 |0.0520| 20 44 265 | 1.15 | 1730 | 740 | 770 | 785 | 0.54 | 0.67 | 0.76 | 0.778 | 15.433 | 6.693 |6203 ZZ|6202 ZZ
15 | 11 56 4.44 K 8.2 2.7 3.0 |0.1101| 21 46 47 115 | 1750 | 855 | 86.5 | 86.5 | 0.59 | 0.72 | 0.79 | 2.02 |18.165| 7.874 6204 ZZ|6202 ZZ
2 15 56 5.94 K 8.2 2.7 3.0 |0.1296| 15 33 513 | 1.15 | 1745 | 855 | 87.5 | 86.5 | 0.60 | 0.73 | 0.80 | 2.72 |18.559| 8.267 |6204 ZZ|6202 ZZ
VI Poles
0.25 | 0.18 56 1.12 K 4.7 1.9 3.0 |0.0710| 40 88 346 | 115 | 1160 | 59.5 | 66.0 | 68.0 | 042 | 0.53 | 0.62 | 0.536 |16.196 | 5.906 |6203 ZZ|6202 ZZ
0.33 | 0.25 56 1.47 L 53 2.2 3.3 |0.0888| 30 66 372 | 115 | 1160 | 640 | 700 | 720 | 0.41 052 | 0.61 | 0.714 |16.590 | 6.299 |6203 ZZ|6202 ZZ
0.5 | 0.37 56 2.23 K 5.6 2.4 3.3 |0.1065| 26 57 39 1.15 | 1160 | 68.0 | 740 | 755 | 0.41 0.53 | 0.63 | 0.976 | 16.984 | 6.693 | 6203 ZZ|6202 ZZ
0.75 | 0.55 | 56H 3.35 K 6.5 29 3.7 |0.1419| 40 88 452 | 115 | 1160 | 77.0 | 81.5 | 825 | 0.43 | 055 | 0.65 | 1.29 [17.771| 7.480 |6204 ZZ|6202 ZZ
1 0.75 | 56H 4.52 J 58 2.3 2.8 |0.1597| 31 68 475 | 115 | 1145 | 80.0 | 82,5 | 825 | 050 | 0.63 | 0.72 | 1.58 |18.165| 7.874 |6204 ZZ|6202 ZZ
Optional
0.75 | 0.55 56 3.35 K 6.5 29 3.7 |0.1419| 40 88 452 | 115 | 1160 | 77.0 | 81.5 | 825 | 043 | 055 | 0.65 | 1.29 [17.771| 7.480 |6203 ZZ|6202 ZZ
1 0.75 56 4.52 J 5.8 2.3 2.8 |0.1597| 31 68 475 | 115 | 1145 | 80.0 | 825 | 825 | 050 | 0.63 | 0.72 | 1.58 |18.165| 7.874 |6204 ZZ|6202 ZZ

1) The full load current values for 230 V can be calculated multiplying by 2 the full load current value by 460 V.

W01 Brake Motor | 11



m E g www.weg.net

W01 Brake Motor - TEFC - NEMA Premium Efficiency - Three-phase - 60 Hz

Full | Locked Rotor |Locked | Break- Inerti Allowable Total oo .
P pane Tt?t?:e arent Tﬁ‘r’;ﬂi T%?;vune S | i o i ot | ted offulfoad Fullload| C (i) | FC (in) e
(ftlb) TTn | Tormn | ) (Ib) speed Efficiency Power Factor current
HP | kW Code | Iin Hot | Cold s [ 75 [ 100 | 50 [ 75 [100 | "® DE NDE
Il Poles
1 10.75|143/5T| 1.48 K 78 2.0 3.0 |0.0643| 22 48 34 1.15 | 3510 | 720 | 770 | 785 | 0.65 | 0.76 | 0.83 | 1.44 |17.840| 7.480 | 6205ZZ | 6203 ZZ
1.5 | 1.1 |143/5T| 2.21 L 9.1 2.3 3.0 |0.1023| 17 37 42 1.15 | 3520 | 80.0 | 825 | 84.0 | 0.71 0.82 | 0.88 | 1.87 |17.840| 7.480 | 6205ZZ | 6203 ZZ
2 | 1.5 |143/5T| 2.94 L 9.9 25 3.0 [0.1279] 13 29 48 1.15 | 3520 | 825 | 855 | 855 | 0.73 | 0.83 | 0.89 | 2.47 |18.627 | 8.268 | 6205ZZ | 6203 ZZ
3 | 2.2 |182/4T| 4.42 K 8.8 22 3.0 |0.1564| 22 48 72 1.15 | 3515 | 840 | 865 | 865 | 0.71 0.82 | 0.87 | 3.67 |21.261| 8.661 | 6206ZZ | 6205ZZ
5 | 3.7 |182/4T| 7.40 J 7.8 22 3.0 |0.2079| 17 37 87 1.15 | 3500 | 87.5 | 885 | 835 | 0.76 | 0.85 | 0.89 | 5.90 |22.836|10.236| 6206ZZ | 6205ZZ
7.5 | 5.5 |213/5T| 11.0 H 76 2.6 3.0 |0.5496| 15 33 155 1.15 | 3530 | 87.5 | 885 | 895 | 0.76 | 0.85 | 0.89 | 8.67 |28.524|11.417| 6208ZZ | 6206 ZZ
10 | 7.5 | 213/5T| 147 H 75 26 3.0 |0.7188| 12 26 183 115 | 3530 | 89.5 | 90.2 | 90.2 | 0.80 | 0.88 | 0.91 11.5 |30.098|12.992| 6208ZZ | 6206 ZZ
15 | 11 |254/6T| 22.0 G 6.8 20 3.0 |0.8718| 14 Bil 197 1.15 | 3525 | 895 | 91.0 | 91.0 | 0.73 | 0.83 | 0.87 | 17.4 |30.95512.992 | 6309 Z-C3 | 6208 Z-C3
20 | 15 |254/6T| 29.5 G 6.6 2.0 29 1.22 12 26 233 1.15 | 3515 | 90.0 | 91.0 | 91.0 | 0.81 0.88 | 0.91 22.7 |31.74213.780 | 6309 Z-C3 | 6208 Z-C3
25 |18.5|254/6T | 36.7 J 8.3 24 3.4 1.31 8 18 245 1.15 | 3530 | 91.0 | 91.7 | 91.7 | 0.77 | 0.85 | 0.89 | 28.5 |32.242(13.780 | 6309 Z-C3 | 6208 Z-C3
Optional
3 | 22 |143/5T| 4.44 K 9.5 3.0 3.8 |0.1663| 10 22 56 1.15 | 3500 | 84.0 | 865 | 8.5 | 0.78 | 0.87 | 0.91 3.51 [19.809 | 9.449 | 620577 | 62037Z
7.5 | 55 [182/4T| 11.2 H 7.7 2.7 3.6 |0.1913| 19 42 88 1.15 | 3480 | 885 | 895 | 895 | 0.77 | 0.86 | 0.90 | 857 |22.049| 9.449 | 6206ZZ | 62057Z
15 | 11 |213/5T| 221 J 8.2 238 33 06341 11 24 178 1.15 | 3520 | 90.2 | 91.0 | 910 | 0.76 | 0.85 | 0.89 | 17.0 |30.598 |12.992| 6208 ZZ | 6206 ZZ
IV Poles
1 ]0.75|143/5T| 2.94 M 8.6 2.8 3.0 |0.1232| 19 42 459 | 1.15 | 1765 | 825 | 84.0 | 855 | 052 | 0.66 | 0.75 | 1.47 |18.234| 7.874 | 620577 | 6203 ZZ
1.5 | 1.1 |143/5T| 4.44 K 8.2 2.7 3.0 |0.1101| 21 46 459 | 1.15 | 1750 | 855 | 86.5 | 86.5 | 059 | 0.72 | 0.79 | 2.02 |18.234| 7.874 | 620577 | 6203 ZZ
2 | 1.5 |143/5T| 5.94 K 8.2 2.7 3.0 |0.1296| 15 33 459 | 115 | 1745 | 855 | 875 | 86.5 | 0.60 | 0.73 | 0.80 | 2.72 |18.627 | 8.268 | 6205ZZ | 6203 ZZ
3 | 22 |182/4T| 8.81 K 8.8 2.2 3.0 |0.4017| 18 40 883 | 1.15 | 1765 | 87.5 | 885 | 89.5 | 0.61 0.74 | 0.81 3.81 [22.836(10.236 | 6206ZZ | 6205277
5 | 37 |182/4T| 14.8 J 7.0 22 3.0 | 0308 | 16 35 80.4 | 1.15 | 1750 | 885 | 89.5 | 89.5 | 0.60 | 0.73 | 0.80 | 6.49 |22.836|10.236 | 6206 ZZ | 6205ZZ
7.5 | 5.5 |213/5T| 22.0 H 7.3 2.6 3.0 | 0938 | 22 48 144 115 | 1770 | 902 | 91.0 | 91.7 | 064 | 0.76 | 0.82 | 9.07 |27.342|10.236| 6208 ZZ | 6206 ZZ
10 | 7.5 | 213/5T| 29.4 H 7.0 25 3.0 1.07 15 33 152 1.15 | 1760 | 91.0 | 91.0 | 91.7 | 067 | 0.78 | 0.84 | 122 |28.236|10.630| 6208ZZ | 6206 ZZ
15 | 11 |254/6T| 43.9 G 6.5 2.5 3.0 2.15 19 42 219 115 | 1770 | 91.0 | 924 | 924 | 0.64 | 0.76 | 0.82 | 18.2 |31.454(12.992 | 6309 Z-C3 | 6208 Z-C3
20 | 15 |254/6T| 58.7 H 6.7 2.7 3.0 264 | 16 35 260 | 1.15 | 1765 | 91.7 | 924 | 93.0 | 066 | 0.77 | 0.82 | 247 [32.746| 13.78 | 6309 Z-C3 | 6208 Z-C3
VI Poles
10075 143/5T| 452 | J 58 | 23 | 28 |01597| 31 | 68 | 47 | 1.15 | 1145 | 80.0 | 825 | 825 | 050 | 0.63 | 0.72 | 1.58 [18.234| 7.874 | 62052Z | 62032Z
1.5 | 1.1 |182/4T| 6.64 K 6.9 2.4 3.4 0.28 55 | 121 74 1.15 | 1170 | 84.0 | 865 | 875 | 0.50 | 0.63 | 0.71 2.22 (21.261| 8.661 | 6206ZZ | 620527Z
2 | 1.5 |182/4T| 8.86 K 75 2.6 3.7 |0.3424| 44 97 84 1.15 | 1170 | 840 | 865 | 885 | 0.50 | 0.62 | 0.71 3.00 |22.049| 9.449 | 6206ZZ | 6205277
3 |22 |213/5T| 13.2 H 6.4 23 29 1.08 46 | 101 152 115 | 1175 | 855 | 885 | 895 | 055 | 0.67 | 0.74 | 417 |27.736|10.630| 6208 ZZ | 6206 ZZ
5 | 3.7 |213/5T| 22.0 H 6 2.2 25 1.26 30 66 168 115 | 1175 | 875 | 885 | 895 | 0.59 | 0.71 0.77 | 6.74 |28.524 |11.417 | 6208ZZ | 6206 ZZ
7.5 | 5.5 |254/6T| 33.1 G 5.4 2.0 2.3 234 | 42 92 226 | 115 | 1175 | 895 | 895 | 91.0 | 0.58 | 0.70 | 0.76 | 9.98 |31.454|12.992 | 6309 Z-C3 | 6208 Z-C3
10 | 7.5 |254/6T| 441 G 5.4 2.1 2.3 2.83 | 30 66 261 115 | 1175 | 90.2 | 91.0 | 91.0 | 057 | 0.69 | 0.75 | 13.8 [32.242|13.780 | 6309 Z-C3 | 6208 Z-C3

1) The full load current values for 230 V can be calculated multiplying by 2 the full load current value by 460 V.

12 |

W01 Brake Motor




www.weg.net m B g

WO01 Brake Motor - ODP - Standard Efficiency

Full | Locked Rotor | Locked | Break- Allowable o0
P rame fun| (el T | et e it e Rt — Fulload ¢ o) | Fom| e
(Ib) speed Efficiency Power Factor current
e | Kkw 0 el | | Hot | cold em g [ 75 [ 100 [ 50 [ 75 | 100 n® DE | NDE
Il Poles
025|018 | Ws6 | 0370 | L | 58 | 25 30 |00126| 29 | 64 | 182 | 1.35 | 3460 | 550 | 620 | 620 | 0.54 | 0.65 | 0.74 | 0.492 |13.425| 5906 |6203 2Z | 6202 ZZ
033025 | W56 | 0500 | L |59 | 27 | 30 [00126| 25 | 55 | 184 | 1.35 | 3450 | 595 | 66.0 | 66.0 | 053 | 0.66 | 0.75 | 0.634 |13.425| 5.906 |62037Z| 6202 2Z
05 | 037 | ws6 | 0750 | K | 6.0 | 34 32 |00126| 26 | 57 | 186 | 125 | 3435 | 64.0 | 70.0 | 70.0 | 0.51 | 0.64 | 0.73 | 0.909 |13.425| 5906 |6203 2Z | 6202 ZZ
0.75 | 055 | W56 | 113 | K | 65 | 30 29 | 00169 | 15 | 33 | 206 | 1.25 | 3425 | 68.0 | 720 | 720 | 056 | 0.70 | 079 | 1.21 |13.818| 6.300 | 620372 | 6202 2Z
1 /075| W56 | 152 | K | 66 | 3.1 30 |00190 | 12 | 26 | 21.7 | 125 | 3415 | 700 | 740 | 740 | 057 | 0.71 | 0.80 | 159 |14.212| 6.693 |6203 2Z | 6202 ZZ
15 | 11 | ws6 | 228 | K | 81 | 35 32 |00254| 9 | 20 | 251 | 115 | 3410 | 755 | 785 | 785 | 0.62 | 0.76 | 0.84 | 2.09 |14.606| 7.087 |62032Z | 6202 2Z
2 | 15 | 56H | 299 | J | 70 | 23 | 25 [00840| 10 | 22 | 360 | 1.5 | 3470 | 77.0 | 785 | 785 | 0.66 | 0.79 | 0.85 | 2.82 |15.960 | 7.480 | 6204 7Z | 6202 2Z
3 |22 | 56H | 451 | J [ 70| 22 25 |00959| 8 | 18 | 392 | 1.15 | 3450 | 80.0 | 815 | 81.5 | 0.70 | 0.82 | 0.87 | 3.89 |16.748| 8.268 | 6204 7Z | 6202 2Z
Optional
025|018 | 48 |0370| L | 58 | 25 30 |00126| 29 | 64 | 182 | 1.35 | 3460 | 550 | 620 | 620 | 0.54 | 0.65 | 0.74 | 0.492 |13.051| 5905 |6203 2Z | 6202 2Z
025|018 | 56 | 0370 | M | 70 | 28 | 36 |00389| 48 | 106 | 251 | 1.35 | 3520 | 525 | 62.0 | 640 | 053 | 0.64 | 0.72 | 0.490 |14.779| 6.299 |6203 ZZ | 6202 ZZ
033|025| 48 0500 | L |59 | 27 | 30 |00126| 25 | 55 | 184 | 1.35 | 3450 | 59.5 | 66.0 | 66.0 | 053 | 0.66 | 0.75 | 0.634 | 13.051| 5905 | brasilia | 6202 2Z
033]025| 56 |0490 | M | 65| 25 | 33 [00389| 38 | 84 | 251 | 1.35 | 3515 | 55.0 | 620 | 66.0 | 052 | 0.63 | 0.72 | 0.660 |14.779| 6.299 |62037Z| 6202 2Z
05 |037| 48 | 0750 | K | 60 | 31 32 |00126| 26 | 57 | 186 | 125 | 3435 | 64.0 | 70.0 | 70.0 | 0.51 | 0.64 | 0.73 | 0.909 |13.051| 5905 |6203 2Z | 6202 ZZ
05 |037| 56 |0740| L | 60 | 24 | 28 |00389| 34 | 75 | 253 | 1.25 | 3495 | 575 | 64.0 | 68.0 | 049 | 0.62 | 0.72 | 0.949 |14.779 | 6.299 | 6203 ZZ | 6202 7Z
075|055 | 48 | 113 | K | 65 | 30 29 |00169 | 15 | 33 | 206 | 1.25 | 3425 | 68.0 | 720 | 720 | 056 | 0.70 | 079 | 1.21 |13.441| 6.300 | 6203 72| 6202 2Z
075|055 | 56 | 112 | K | 62 | 23 | 26 [00453| 31 | 68 | 27.3 | 1.25 | 3480 | 64.0 | 700 | 720 | 053 | 067 | 0.76 | 1.26 |15.173| 6.693 |62037Z| 6202 2Z
1 075| 48 | 152 | K | 66 | 3.1 30 |00190 | 12 | 26 | 21.7 | 125 | 3415 | 700 | 740 | 740 | 057 | 0.71 | 0.80 | 1.59 |13.833| 6.693 |6203 27 | 6202 2Z
1 |075| 56 | 149 | K | 63 | 23 | 25 |00517| 23 | 51 | 286 | 125 | 3470 | 66.0 | 720 | 740 | 058 | 0.70 | 079 | 1.61 [15.173| 6.693 |6204 2Z | 6202 2Z
15 1.1 48 2.28 K 8.1 35 32 0.0254 9 20 25.0 1.15 3410 75.5 78.5 78.5 0.62 0.76 0.84 2.09 |14.232| 7.087 |6203 ZZ| 6202 ZZ
15 | 11 | 56 | 224 | J | 66 | 23 | 25 |00648| 17 | 37 | 326 | 115 | 3465 | 72.0 | 750 | 77.0 | 063 | 0.75 | 0.83 | 216 |15.566 | 7.087 |6204 ZZ | 620272
2 |15 | 56 | 299 | J | 70| 23 | 25 |00840| 10 | 22 | 376 | 1.15 | 3470 | 77.0 | 785 | 785 | 0.66 | 0.79 | 0.85 | 2.82 [15.960| 7.480 | 6204 ZZ | 6202 ZZ
3 | 22| 56 | 451 | J | 70| 22 25 100959 | 8 | 18 | 40.0 | 1.15 | 3450 | 80.0 | 81.5 | 815 | 0.70 | 0.82 | 0.87 | 3.89 | 16.75 | 8.267 |6204 77 | 6202 ZZ
IV Poles
016 | 012 | W56 | 0480 | L | 51 | 24 | 30 [00240| 46 | 101 | 182 | 1.35 | 1740 | 505 | 595 | 64.0 | 045 | 055 | 0.64 | 0.368 |13.425| 5.906 |62037Z| 6202 2Z
025|018 | Ws6 | 0750 | J | 47 | 21 27 100240 | 30 | 66 | 182 | 1.35 | 1730 | 525 | 595 | 64.0 | 047 | 058 | 0.68 | 0.519 |13.425| 5906 |6203 ZZ | 6202 ZZ
033025 | Ws6 | 0990 | K | 50 | 23 28 100280 | 23 | 51 | 193 | 1.35 | 1730 | 550 | 620 | 66.0 | 045 | 057 | 067 | 0.710 |13.818| 6.300 | 6203 2Z | 6202 2Z
05 (037 | ws6 | 150 | K | 54 | 23 28 | 00318 | 15 | 33 | 204 | 1.25 | 1730 | 595 | 66.0 | 70.0 | 047 | 0.60 | 0.70 | 0.948 |13.818| 6.300 | 6203 2Z | 6202 2Z
075 | 055 | W56 | 225 | J |59 | 24 | 28 [00439| 10 | 22 | 232 | 1.25 | 1730 | 66.0 | 720 | 740 | 050 | 0.63 | 0.74 | 1.26 |14.606 | 7.087 |62037Z|62022Z
1 075| Ws6 | 301 | K | 62 | 25 28 100520 | 8 | 18 | 254 | 115 | 1720 | 68.0 | 740 | 755 | 0.52 | 0.66 | 0.76 | 1.64 |15.000| 7.480 |6203 ZZ | 6202 ZZ
15 | 11 | 56H | 445 | K | 69 | 25 | 28 |00907 | 10 | 22 | 392 | 115 | 1745 | 755 | 785 | 80.0 | 051 | 0.65 | 0.75 | 2.30 |15.960 | 7.480 | 6204 7Z | 6202 72
2 | 15 | 56H | 596 | K | 67 | 24 | 25 [01037| 7 | 15 | 425 | 115 | 1740 | 755 | 785 | 785 | 054 | 0.68 | 077 | 311 |16.354| 7.874 |6204 72| 6202 2Z
3 | 22| 56H | 896 | K | 71| 24 | 27 |01554| 7 | 15 | 495 | 1.15 | 1735 | 80.0 | 81.5 | 815 | 057 | 0.71 | 079 | 4.29 [16.748| 8.268 | 6204 2Z | 6202 2Z
Optional
016 | 012 | 48 |0480 | L |51 | 24 | 30 |00240| 46 | 101 | 182 | 1.35 | 1740 | 50.5 | 595 | 640 | 0.45 | 0.55 | 0.64 | 0.368 | 13.051| 5.905 |6203 ZZ | 6202 22
025|018 | 48 | 0750 | J | 47 | 21 27 | 00240 | 30 | 66 | 182 | 1.35 | 1730 | 525 | 595 | 64.0 | 047 | 0.58 | 068 | 0519 |13.051 | 5.905 | 6203 2Z 6202 2Z
025|018 | 56 |0740 | M |59 | 23 | 35 [00389| 33 | 73 | 247 | 1.35 | 1760 | 55.0 | 620 | 66.0 | 041 | 051 | 0.60 | 0.571 |14.385| 5.906 |62037Z| 6202 2Z
033]025| 48 0990 | K |50 | 23 28 100280 | 23 | 51 | 193 | 1.35 | 1730 | 550 | 620 | 66.0 | 045 | 057 | 067 | 0.710 |13.441| 6.300 | 6203 2Z | 6202 ZZ
033]025| 56 |0970 | L |55 | 20 | 31 [00389| 29 | 64 | 247 | 1.35 | 1755 | 57.5 | 640 | 68.0 | 043 | 054 | 0.64 | 0.721 |14.385| 5.906 |6203 7Z | 6202 2Z
05 037 | 48 | 150 | K | 54 | 23 28 |00318| 15 | 33 | 204 | 1.25 | 1730 | 595 | 66.0 | 70.0 | 0.47 | 0.60 | 0.70 | 0.948 |13.441| 6.300 | 6203 2Z | 6202 2Z
05 (037 | 56 | 148 | L | 60 | 22 29 |00453 | 23 | 51 | 264 | 125 | 1755 | 64.0 | 700 | 72.0 | 043 | 0.56 | 0.66 | 0.977 |14.779| 6.299 | 6203 7Z | 6202 2Z
075055 | 48 | 225 | J |59 | 24 | 28 [00439| 10 | 22 | 232 | 1.25 | 1730 | 66.0 | 720 | 740 | 050 | 0.63 | 0.74 | 1.26 |14.232| 7.087 |62037Z| 6202 2Z
075|055 | 56 | 221 | K |63 | 23 | 30 [00584| 13 | 29 | 293 | 1.25 | 1755 | 66.0 | 720 | 755 | 045 | 058 | 0.68 | 1.34 |15173| 6.693 |62037Z| 6202 2Z
1 |075] 48 | 301 | K | 62| 25 28 100520 | 8 | 18 | 254 | 115 | 1720 | 68.0 | 740 | 755 | 052 | 0.66 | 0.76 | 1.64 |14.625| 7.480 |6203 2Z | 6202 ZZ
1 |075| 56 | 296 | L | 66| 25 | 29 [00712| 10 | 22 | 324 | 115 | 1750 | 68.0 | 740 | 77.0 | 0.44 | 0.58 | 068 | 1.80 |15.173| 6.693 | 6204 7Z | 6202 22
15 | 11 | 56 | 445 | K | 69 | 25 | 28 |00907 | 10 | 22 | 366 | 115 | 1745 | 755 | 785 | 80.0 | 051 | 0.65 | 0.75 | 2.30 |15.960 | 7.480 |6204 7Z | 6202 7Z
2 |15 | 56 |59 | K |67 | 24 | 25 (01037 | 7 | 15 | 396 | 1.15 | 1740 | 755 | 785 | 785 | 0.54 | 0.68 | 077 | 3.1 [16.354| 7.874 |6204 27 | 6202 2Z
3 | 22| 56 |89 | K | 71| 24 | 27 |01554| 7 | 15 | 465 | 1.15 | 1735 | 80.0 | 81.5 | 815 | 0.57 | 0.71 | 079 | 4.29 [16.748| 8.267 | 6204 2Z | 6202 ZZ

1) The full load current values for 230 V can be calculated multiplying by 2 the full load current value by 460 V.

WO1 Brake Motor | 13



|.|_.| E g www.weg.net

W01 Brake Motor - ODP - High Efficiency

Il Poles
1 |0.75|143/5T| 1.48 K 7.5 24 3.2 |0.0278| 27 59 36.7 | 1.15 | 3490 | 77.0 | 80.0 | 80.0 | 0.69 | 0.80 | 0.87 | 1.35 [16.029| 7.480 | 6205ZZ | 6203 ZZ
1.5 | 1.1 |143/5T| 2.22 J 7.8 24 3.2 |0.0358| 22 48 410 | 1.15 | 3495 | 815 | 825 | 825 | 0.73 | 0.84 | 0.89 | 1.88 [16.029| 7.480 | 6205ZZ | 6203 ZZ
2 | 1.5 |143/5T| 2.96 K 8.0 25 3.4 (0.0439| 17 37 46.2 | 1.15 | 3500 | 825 | 84.0 | 840 | 0.74 | 0.84 | 0.89 | 252 |16.423| 7.874 | 620577 | 6203 ZZ
3 | 2.2 |143/5T| 4.47 J 7.8 25 3.1 0.0496| 12 26 495 | 1.15 | 3475 | 84.0 | 840 | 840 | 073 | 0.84 | 0.89 | 3.69 |16.816| 8.268 | 6205ZZ | 6203 ZZ
5 | 3.7 |182/4T| 7.38 H 7.0 1.8 29 |01217| 15 33 675 | 1.15 | 3510 | 855 | 86.5 | 855 | 0.71 | 0.82 | 0.87 | 6.24 |18.515| 7.874 | 6206 ZZ | 6205277
7.5 | 55 |182/4T| 111 H | 70 | 18 28 |0.1559| 8 18 | 779 | 1.15 | 3500 | 87.5 | 885 | 875 | 0.74 | 0.84 | 0.89 | 8.86 |19.303| 8.661 | 6206ZZ | 620577
10 | 75 |213/5T| 147 | G | 64 | 1.8 26 |03816| 8 18 138 | 1.15 | 3530 | 87.5 | 885 | 885 | 0.72 | 0.83 | 0.87 | 122 |24.882|10.236| 6208ZZ | 6206 ZZ
15 | 11 |213/5T| 22.0 G 6.5 1.9 2.6 |0.4651 6 13 155 115 | 3525 | 885 | 895 | 895 | 0.73 | 0.83 | 0.88 | 17.5 |25.277|10.630 | 6208ZZ | 6206 ZZ
20 | 15 |254/6T| 29.4 G 6.0 1.8 24 106974 9 20 190 1.15 | 3520 | 885 | 895 | 90.2 | 0.75 | 0.84 | 0.88 | 23.7 [28.765|12.992 | 6309 Z-C3 | 6208 Z-C3
25 |18.5|254/6T| 36.7 G 6.2 1.8 28 08718 9 20 210 1.15 | 3530 | 90.2 | 91.0 | 91.0 | 0.75 | 0.84 | 0.88 | 29.0 |28.765|12.992 | 6309 Z-C3 | 6208 Z-C3
IV Poles
1 10.75|143/5T| 2.94 L 7.4 2.8 3.3 |0.0907| 16 29 418 | 115 | 1760 | 770 | 815 | 825 | 0.46 | 060 | 0.70 | 1.63 |16.029| 7.480 | 6205ZZ | 6203 ZZ
1.5 | 1.1 | 143/5T| 4.43 K 7.6 2.7 35 01168 | 12 26 483 | 1.15 | 1755 | 80.0 | 84.0 | 84.0 | 052 | 0.65 | 0.75 | 219 |16.423 | 7.874 | 6205ZZ | 6203 ZZ
2 | 1.5 |143/5T| 594 K 7.4 2.6 31 101296 | 10 22 517 | 115 | 1745 | 815 | 84.0 | 84.0 | 055 | 0.69 | 0.77 | 291 |16.816| 8.268 | 6205ZZ | 6203 ZZ
3 |22 |182/4T| 8.81 J 6.8 22 29 (0.2164| 16 29 645 | 1.15 | 1765 | 855 | 86.5 | 86.5 | 0.59 | 0.72 | 0.79 | 4.04 |18.515| 7.874 | 6206 ZZ | 6205ZZ
5 | 37 |182/4T| 148 | J 70 | 20 28 |0308| 9 20 | 829 | 1.15 | 1750 | 86.5 | 87.5 | 87.5 | 062 | 0.75 | 0.82 | 6.47 |20.149| 9.055 | 6206ZZ | 62057Z
7.5 | 55 [213/5T| 221 H 6.5 2.0 2.6 | 0.804 10 22 1375 | 115 | 1760 | 87.5 | 88.5 | 885 | 067 | 0.79 | 0.84 | 9.29 |24.882|10.236| 6208ZZ | 6206 ZZ
10 | 7.5 |213/5T| 29.4 H 6.5 2.1 2.7 1.03 8 18 | 151.8 | 1.15 | 1760 | 89.5 | 90.2 | 89.5 | 0.68 | 0.79 | 0.85 | 12.4 |25.381|10.236| 6208ZZ | 6206 ZZ
15 | 11 |254/6T| 442 | G | 60 | 19 23 | 122 13 29 | 1969 | 1.15 | 1760 | 90.2 | 91.0 | 91.0 | 066 | 0.77 | 0.82 | 185 |29.50512.992| 6309 Z-C3 | 6208 Z-C3
20 | 15 |254/6T| 59 F 55 | 19 22 | 128 12 26 | 2189 | 1.15 | 1755 | 91.0 | 91.0 | 91.0 | 067 | 0.78 | 0.81 | 25.5 |30.01012.992| 6309 Z-C3 | 6208 Z-C3
VI Poles
1 10.75|143/5T | 4.51 K 5.9 2.2 29 [0.129% | 19 42 50.7 | 1.15 | 1150 | 77.0 | 80.0 | 80.0 | 047 | 0.60 | 0.69 | 1.71 |16.816| 8.268 | 620577 | 6203 ZZ
1.5 | 1.1 |182/4T| 6.64 K 6.8 2.0 3.1 (03918 29 64 76.4 | 115 | 1170 | 81.5 | 84.0 | 840 | 049 | 0.62 | 0.71 2.31 |19.303 | 8.661 | 6206 ZZ | 6205ZZ
2 | 15(182/4T| 886 | K | 6.9 | 21 31 |04786| 24 53 | 869 | 1.15 | 1170 | 825 | 855 | 855 | 0.51 | 0.64 | 0.72 | 3.06 |20.090 | 9.449 | 6206Z7Z | 62057Z
3 |22 |213/5T| 132 J 6.5 2.3 27 109029 19 42 142 1.15 | 1180 | 84.0 | 855 | 865 | 052 | 0.66 | 0.74 | 431 |24.882(10.236| 6208ZZ | 6206 ZZ
5 | 3.7 |213/5T| 221 G 55 2.1 24 109006 | 23 51 146.3 | 115 | 1170 | 86.5 | 87.5 | 875 | 0.58 | 0.70 | 0.77 | 6.89 |24.882|10.236| 6208ZZ | 6206 ZZ
7.5 | 5.5 |254/6T| 33.1 G | 50| 20 23 | 150 | 30 66 197 | 115 | 1175 | 86.5 | 885 | 885 | 0.53 | 0.65 | 0.72 | 10.8 |29.505|12.992| 6309 Z-C3 | 6208 Z-C3
10 | 7.5 |254/6T| 439 | G | 52 | 21 24 | 200 | 28 62 232 | 115 | 1180 | 885 | 90.2 | 90.2 | 0.53 | 0.66 | 0.73 | 14.3 |29.505|12.992| 6309 Z-C3 | 6208 Z-C3

1) The full load current values for 230 V can be calculated multiplying by 2 the full load current value by 460 V.

14 | WO1 Brake Motor



www.weg.net m Eg

W01 Brake Motor - ODP - NEMA Premium Efficiency

Il Poles
1 0.75 |143/5T| 1.48 L 8.3 21 3.3 |0.0643| 22 48 | 334 | 115 | 3510 | 740 | 785 | 80.0 | 066 | 0.78 | 0.85 | 1.38 |16.029| 7.480 | 6205ZZ | 6303 ZZ
1.5 | 1.1 |143/5T| 2.21 K 8.6 2.1 3.3 |0.0835| 19 42 | 373 | 115 | 3510 | 815 | 84.0 | 84.0 | 0.73 | 0.83 | 0.89 | 1.85 |16.029| 7.480 | 6205ZZ | 6303 ZZ
2 1.5 |143/5T| 2.95 K 8.9 2.2 3.3 (01151 14 31 448 | 1.15 | 3510 | 84.0 | 855 | 855 | 0.77 | 0.86 | 0.91 242 |16.816| 8.268 | 620577 | 6303 ZZ
3 2.2 |143/5T| 4.47 J 8.0 23 3.0 |01279| 9 20 | 479 | 115 | 3480 | 84.0 | 855 | 855 | 0.76 | 0.86 | 0.90 | 3.59 |17.210| 8.661 | 6205ZZ | 6303 ZZ
5 3.7 |182/4T| 7.38 J 76 1.9 3.0 |0.1386| 12 26 | 66.7 | 115 | 3510 | 855 | 86.5 | 86.5 | 0.73 | 0.83 | 0.88 | 6.10 |19.303 | 8.661 | 6206 ZZ | 6205ZZ
75 | 55 [182/4T| 11.1 H | 74 | 18 29 (01818 10 | 22 | 779 | 1.15 | 3500 | 88.5 | 885 | 885 | 0.76 | 0.85 | 0.90 | 8.67 |19.696| 9.055 | 62067Z | 6205ZZ
10 | 7.5 |213/5T| 147 H 6.8 2.0 2.8 (04651 11 24 | 1529 | 115 | 3535 | 88,5 | 895 | 895 | 0.74 | 0.84 | 0.88 | 12.0 |25.277 |10.630 | 6208 ZZ | 6206 ZZ
15 | 11 |213/5T| 220 | G | 68 | 21 28 05512 8 18 | 1705 | 1.15 | 3535 | 90.2 | 90.2 | 90.2 | 0.77 | 0.86 | 0.89 | 17.2 |26.063|11.417| 6208ZZ | 6206 ZZ
20 15 |254/6T| 29.4 G 6.0 1.8 24 07848 | 13 29 | 1903 | 1.15 | 3525 | 90.2 | 91.0 | 91.0 | 0.76 | 0.83 | 0.87 | 23.8 |28.765|12.992 | 6309 Z-C3 | 6208 Z-C3
25 | 18.5 |254/6T | 36.7 G 6.3 1.8 29 |09155| 9 20 | 2156 | 1.15 | 3530 | 91.0 | 91.7 | 91.7 | 0.73 | 0.83 | 0.87 | 29.1 |29.505 |12.992 | 6309 Z-C3 | 6208 Z-C3
IV Poles
1 0.75 |143/5T| 2.94 L 8.0 29 3.6 |0.1101| 22 48 | 466 | 115 | 1760 | 81.5 | 84.0 | 855 | 0.51 0.65 | 0.73 | 1.51 |16.029 | 7.480 | 6205ZZ | 6203 ZZ
1.5 | 1.1 |143/5T| 4.42 L 8.7 28 3.3 |0.1426| 15 33 | 549 | 115 | 1760 | 84.0 | 86.5 | 86.5 | 0.56 | 0.69 | 0.77 | 2.07 |17.210| 8.661 | 6205ZZ | 6203 ZZ
2 1.5 |143/5T| 5.96 K 7.7 26 3.2 |0.1168| 17 37 | 51.7 | 115 | 1740 | 855 | 86.5 | 86.5 | 0.61 0.74 | 0.81 2.69 [17.210| 8.661 | 6205ZZ | 6203 ZZ
3 | 22 |182/4T| 8.81 K | 84 | 22 33 [0.3092| 15 | 33 | 81.3 | 1.15 | 1765 | 87.5 | 885 | 89.5 | 0.60 | 0.73 | 0.80 | 3.86 |19.696 | 9.055 | 6206ZZ | 6205ZZ
5 | 37 |182/4T| 147 | J | 72 | 20 31 |0.4003| 12 | 26 | 97.7 | 1.15 | 1760 | 885 | 835 | 89.5 | 063 | 0.76 | 0.82 | 6.33 |21.330|10.236 | 6206ZZ | 62057ZZ
75 | 55 |213/5T| 22.0 H 72 24 3.2 1.03 13 29 154 | 115 | 1770 | 89.5 | 90.2 | 91.0 | 065 | 0.77 | 0.82 | 9.25 |24.882|10.236 | 6208 ZZ | 6206 ZZ
10 | 7.5 |213/5T| 29.3 H 7.0 25 35 1.30 14 31 175 115 | 1770 | 90.2 | 91.0 | 91.7 | 064 | 0.77 | 0.83 | 124 |25.381(10.236 | 6208 ZZ | 6206 ZZ
15 11 | 254/6T| 43.8 H 6.7 24 3.0 1.82 17 37 | 2222 | 115 | 1775 | 91.7 | 924 | 93.0 | 062 | 0.73 | 0.80 | 18.6 |29.505|12.992 | 6309 Z-C3 | 6208 Z-C3
20 | 15 |254/6T| 585 | G | 63 | 24 29 | 223 | 15 | 33 | 2541 | 1.15 | 1770 | 924 | 924 | 930 | 063 | 0.74 | 0.81 | 25.0 |30.010|12.992 | 6309 Z-C3 | 6208 Z-C3
VI Poles
1 0.75 {143/5T| 4.51 K 6.1 25 3.0 [0.1419] 24 53 | 476 | 115 | 1150 | 78,5 | 81.5 | 825 | 0.47 | 060 | 0.69 | 1.65 |16.029| 7.480 | 6205Z7Z | 6203 ZZ
15 | 1.1 |182/4T| 6.67 J 6.5 2.0 31 [02178| 46 | 101 | 70.4 | 1.15 | 1165 | 84.0 | 855 | 86.5 | 0.51 0.63 | 0.71 | 2.25 [18.515| 7.874 | 6206 ZZ | 6205 ZZ
2 | 15 |182/4T| 889 | J | 66 | 20 30 |0.2800( 33 | 73 | 815 | 1.15 | 1165 | 855 | 865 | 87.5 | 0.53 | 0.66 | 0.73 | 2.95 |19.303 | 8.661 | 6206ZZ | 62057ZZ
3 2.2 |213/5T| 132 H 59 21 26 |0.8104| 39 86 | 1323 | 115 | 1175 | 86.5 | 87.5 | 835 | 0.56 | 0.68 | 0.75 | 4.16 |24.882|10.236 | 6208ZZ | 6206 ZZ
5 3.7 |213/5T| 22.0 H 59 22 25 1.08 29 64 | 156.2 | 115 | 1175 | 885 | 89.5 | 895 | 0.58 | 0.70 | 0.77 | 6.74 |25.276|10.630| 6208ZZ | 6206 ZZ
75 | 55 [254/6T| 33.1 F | 51| 20 23 | 200 | 37 | 81 | 2300 | 1.15 | 1175 | 885 | 90.2 | 90.2 | 0.56 | 0.68 | 0.75 | 10.2 |29.505 |12.992 | 6309 Z-C3 | 6208 Z-C3
10 | 7.5 |254/6T| 439 | G | 53 | 21 23 | 250 | 34 | 75 | 2596 | 1.15 | 1180 | 91.0 | 91.7 | 91.7 | 0.56 | 0.68 | 0.74 | 13.9 |29.505 |12.992 | 6309 Z-C3 | 6208 Z-C3

1) The full load current values for 230 V can be calculated multiplying by 2 the full load current value by 460 V.

WO1 Brake Motor | 15



m E g www.weg.net

WO01 Brake Motor - ODP - Premium Efficiency

Full Locked | Break- | , . | Allowable 001
Output | _ gt Loﬁ(:r?e?:;mr Rotor | down | M | locked rotor | Tofal | g ;o0 - % of ful load =tz @ : Bearings
TaMe | Torque Torque | Torque s | time(s) | Weight gy ; ub 1088 G (in) | FC (in)
t.Ib) (Ib) speed Efficiency Power Factor current
W | kW O e T | | ™ Hot | Cold ™ s [ 75 [ 100 | 50 [ 75 [ 100 |"® DE | NDE
Il Poles
025 | 018 | W56 | 0.370 K 58 25 3.0 |0.0126| 29 64 112 | 1.35 | 3460 | 55.0 | 640 | 66.0 | 0.53 | 0.65 | 0.74 | 0.463 |13.425| 5.906 |6203 ZZ|6202 ZZ
0.33 | 0.25 | W56 | 0.500 K 59 27 3.0 |0.0126| 25 55 112 | 1.35 | 3450 | 59.5 | 68.0 | 70.0 | 0.53 | 0.66 | 0.75 | 0.598 |13.425| 5.906 |6203ZZ |6202 ZZ
0.5 0.37 | W56 | 0.750 K 6.5 3.2 3.5 |0.0126| 27 59 112 | 125 | 3440 | 680 | 740 | 740 | 054 | 0.67 | 0.76 | 0.826 |13.425| 5.906 |6203 ZZ | 6202 ZZ
075 | 055 | W56 | 1.13 J 6.9 3.0 3.3 |0.0169| 15 33 112 | 125 | 3430 | 720 | 755 | 77.0 | 0.60 | 0.73 | 0.82 | 1.09 |13.818| 6.300 |6203 ZZ | 6202 ZZ
1 0.75 | W56 | 1.51 K 7.0 3.1 3.3 |0.0190| 13 29 112 | 125 | 3420 | 740 | 755 | 77.0 | 0.61 0.74 | 0.83 | 1.47 [14.212| 6.693 |6203 ZZ| 6202 ZZ
1.5 1.1 56 2.21 K 8.6 21 3.3 |0.0835| 20 44 410 | 115 | 3510 | 815 | 84.0 | 84.0 | 0.73 | 0.83 | 0.89 | 1.85 [16.354 | 7.874 |6204 ZZ| 6202 ZZ
2 15 56H 2.95 K 8.9 2.2 3.3 01151 14 31 493 | 115 | 3510 | 84.0 | 855 | 855 | 0.77 | 0.86 | 0.91 242 (17141 8.661 |6204 ZZ | 6202 ZZ
3 22 56H 4.47 J 8.0 2.3 30 [01279| 9 20 52.7 | 115 | 3480 | 84.0 | 855 | 855 | 0.76 | 0.86 | 0.90 | 3.59 |17.535| 9.055 |6204 ZZ|6202 ZZ
Optional
025 | 0.18 48 0.370 K 58 25 3.0 |0.0126| 29 64 11.2 | 1.35 | 3460 | 55.0 | 64.0 | 66.0 | 0.53 | 0.65 | 0.74 | 0.463 | 13.051| 6.300 | 6203 ZZ | 6202 ZZ
025 | 0.18 56 0.370 M 6.9 24 3.3 |0.0389| 43 95 265 | 1.35 | 3525 | 55.0 | 640 | 656 | 0.56 | 0.66 | 0.75 | 0.459 |14.779| 6.299 | 6203 ZZ | 6202 ZZ
0.33 | 0.25 48 0.500 K 59 2.7 3.0 |0.0126| 25 55 112 | 1.35 | 3450 | 59.5 | 680 | 700 | 0.53 | 0.66 | 0.75 | 0.598 |13.051 | 6.300 |6203 ZZ | 6202 ZZ
0.33 | 0.25 56 0.490 L 6.7 25 3.2 |0.0389| 38 84 26.7 | 1.35 | 3520 | 57.5 | 66.0 | 69.5 | 0.54 | 0.65 | 0.74 | 0.610 [14.779 | 6.299 |6203 ZZ | 6202 ZZ
0.5 0.37 48 0.750 K 6.5 3.2 35 |0.0126| 27 59 112 | 1.25 | 3440 | 680 | 740 | 740 | 054 | 0.67 | 0.76 | 0.826 |13.051 | 6.300 |6203 ZZ | 6202 ZZ
0.5 0.37 56 0.740 K 6.2 23 2.8 |0.0389| 39 86 27.0 | 1.25 | 3490 | 640 | 700 | 734 | 057 | 0.69 | 0.78 | 0.811 |14.779| 6.299 | 6203 ZZ | 6202 ZZ
0.75 | 0.55 48 1.13 J 6.9 3.0 3.3 |0.0169| 15 33 112 | 125 | 3430 | 720 | 755 | 77.0 | 0.60 | 0.73 | 0.82 | 1.09 |13.441| 6.300 |6203 ZZ | 6202 ZZ
0.75 | 0.55 56 1.1 J 6.5 24 2.8 |0.0453| 33 73 289 | 125 | 3485 | 68.0 | 740 | 76.8 | 057 | 0.70 | 0.79 | 1.14 (15173 | 6.693 |6203 ZZ | 6202 ZZ
1 0.75 48 1.51 K 7.0 31 3.3 |0.0190| 13 29 112 | 125 | 3420 | 740 | 755 | 77.0 | 0.61 0.74 | 0.83 | 1.47 | 13.84 | 6.693 | 6203 ZZ| 6202 Z2Z
1 0.75 56 1.49 J 6.4 23 26 [0.0517| 23 51 304 | 1.25 | 3470 | 700 | 755 | 77.0 | 0.60 | 0.73 | 0.81 1.51 |15.173 | 6.693 | 6204 ZZ | 6202 ZZ
15 11 W56 | 2.27 K 8.0 3.3 3.6 |0.0294| 12 26 112 | 115 | 3420 | 825 | 840 | 840 | 065 | 0.78 | 0.85 | 1.93 |15.000| 7.480 |6203 ZZ|6202 ZZ
1.5 1.1 48 227 K 8.0 33 3.6 |0.0294| 12 26 112 | 1.15 | 3420 | 825 | 840 | 840 | 065 | 0.78 | 0.85 | 1.93 |14.625| 7.480 |6203 ZZ | 6202 ZZ
2 15 56 2.95 K 8.9 2.2 33 |0.1151| 14 31 493 | 115 | 3510 | 84.0 | 855 | 855 | 0.77 | 0.86 | 091 242 (17141 8.661 |6204 ZZ | 6202 Z2Z
3 2.2 56 4.47 J 8.0 2.3 3.0 |01279| 9 20 52.7 | 115 | 3480 | 84.0 | 855 | 855 | 0.76 | 0.86 | 0.90 | 3.59 [17.535| 9.055 |6204 ZZ| 6202 ZZ
IV Poles
025 | 018 | W56 | 0.740 K 57 25 3.4 0.0280| 34 75 112 | 1.35 | 1740 | 595 | 68.0 | 70.0 | 046 | 0.58 | 0.67 | 0.482 |13.818| 6.300 |6203 ZZ | 6202 ZZ
033 | 0.25 | W56 | 0.980 L 6.4 2.7 3.6 |0.0358| 26 57 112 | 1.35 | 1740 | 640 | 720 | 740 | 047 | 059 | 0.69 | 0.615 |14.212| 6.693 |6203 ZZ | 6202 ZZ
0.5 037 | W56 | 1.49 K 6.4 25 3.2 |0.0439| 23 51 112 | 125 | 1735 | 700 | 755 | 785 | 0.53 | 0.66 | 0.75 | 0.789 |14.606 | 7.087 |6203 ZZ | 6202 ZZ
0.75 | 0.55 56 2.21 K 7.3 25 3.0 |0.0712| 21 46 345 | 1.25 | 1760 | 740 | 785 | 81.1 052 | 065 | 0.74 | 1.15 [15.566 | 7.087 |6203 ZZ | 6202 ZZ
1 0.75 56 2.94 L 7.6 238 3.2 |0.0842| 17 37 376 | 115 | 1760 | 785 | 825 | 835 | 049 | 063 | 0.72 | 1.57 [15.960 | 7.480 |6204 ZZ|6202 ZZ
1.5 1.1 56H 4.42 L 8.8 29 35 |0.1296| 14 31 49.2 | 115 | 1760 | 84.0 | 855 | 86.5 | 053 | 0.66 | 0.76 | 2.10 [17.141| 8.661 |6204 ZZ| 6202 ZZ
2 15 56H 5.96 K 7.7 2.6 32 |0.1168| 17 37 47.8 1.15 | 1740 | 855 86.5 86.5 0.61 0.74 0.81 2.69 [17.141| 8.661 |6204 ZZ | 6202 2Z
3 22 56H 8.96 K 7.6 2.7 3.0 |0.1419| 12 26 56.1 115 | 1735 | 865 | 86.5 | 869 | 0.59 | 0.72 | 0.80 | 3.97 |17.535| 9.055 | 6204 ZZ | 6202 ZZ
Optional
025 | 0.18 48 0.740 K 57 25 3.4 00280 34 75 112 | 135 | 1740 | 59.5 | 68.0 | 70.0 | 046 | 0.58 | 0.67 | 0.482 |13.441| 6.300 |6203 ZZ | 6202 Z2Z
025 | 0.18 56 | 0.730 M 5.9 2.3 3.3 [0.0389| 38 84 | 261 | 1.35 | 1765 | 57.5 | 64.0 | 69.5 | 0.41 | 052 | 0.61 | 0.533 |14.384 | 5.906 |6203 ZZ | 6202 ZZ
0.33 | 0.25 48 0.980 L 6.4 2.7 3.6 |0.0358 | 26 57 112 | 135 | 1740 | 640 | 720 | 740 | 047 | 059 | 0.69 | 0.615 |13.838 | 6.693 |6203 ZZ | 6202 ZZ
0.33 | 0.25 56 0.970 L 6.2 23 3.3 |0.0453| 36 79 279 | 1.35 | 1765 | 62.0 | 70.0 | 734 | 0.44 | 055 | 0.64 | 0.668 [14.779| 6.299 |6203 ZZ | 6202 ZZ
0.5 0.37 48 1.49 K 6.4 25 3.2 |0.0439| 23 51 112 | 125 | 1735 | 700 | 755 | 785 | 0.53 | 0.66 | 0.75 | 0.789 |14.232| 7.087 |6203 ZZ | 6202 ZZ
0.5 0.37 56 1.47 L 7.2 24 3.3 |0.0584| 27 59 | 311 | 125 | 1765 | 70.0 | 755 | 78.2 | 0.47 | 0.60 | 0.69 | 0.861 |15.173| 6.693 | 6203 ZZ | 6202 ZZ
2 15 56 5.96 K 7.7 26 3.2 |0.1168| 17 37 479 | 115 | 1740 | 855 | 86.5 | 86.5 | 0.61 0.74 | 0.81 2.69 |17.141| 8.661 | 6204 ZZ | 6202 ZZ
3 2.2 56 8.96 K 7.6 27 3.0 |0.1419| 12 26 56.1 115 | 1735 | 865 | 865 | 869 | 0.59 | 0.72 | 0.80 | 3.97 |17.535| 9.055 | 6204 ZZ | 6202 ZZ
VI Poles
025 | 0.18 56 1.12 K 48 2.1 2.8 |0.0622| 40 88 275 | 1.35 | 1160 | 55.0 | 64.0 | 67.5 | 0.41 0.52 | 0.61 | 0.549 [14.779| 6.299 |6203 ZZ | 6202 ZZ
0.33 | 0.25 56 1.47 K 5.0 2.1 2.8 |0.0710| 35 7 289 | 1.35 | 1160 | 59.5 | 66.0 | 71.4 | 042 | 053 | 0.63 | 0.698 [14.779| 6.299 |6203 ZZ | 6202 ZZ
0.5 0.37 56 2.24 J 5.1 2.0 2.6 |0.0838| 28 62 321 125 | 1155 | 68.0 | 740 | 753 | 043 | 0.56 | 0.66 | 0.934 |15.173| 6.693 | 6203 ZZ | 6202 ZZ
0.75 | 0.55 56H 3.35 J 5.9 22 2.8 |0.1685| 33 73 466 | 115 | 1160 | 75,5 | 80.0 | 81.7 | 0.45 | 058 | 0.67 | 1.26 [17.141| 8.661 |6204 ZZ| 6202 ZZ
1 0.75 56H 4.47 K 6.2 24 3.0 |0.1951| 26 57 515 | 115 | 1160 | 77.0 | 815 | 825 | 045 | 058 | 0.68 | 1.68 [17.535| 9.055 |6204 ZZ | 6202 ZZ
Optional
0.75 | 0.55 56 3.35 J 59 2.2 2.8 |0.1685| 33 73 466 | 115 | 1160 | 755 | 80.0 | 81.7 | 0.45 | 058 | 0.67 | 1.26 [17.141| 8.661 |6203 ZZ| 6202 2Z
1 0.75 56 4.47 K 6.2 24 3.0 |0.1951| 26 57 515 | 115 | 1160 | 77.0 | 815 | 825 | 045 | 058 | 0.68 | 1.68 |17.535| 9.055 |6204 ZZ| 6202 ZZ

1) The full load current values for 230 V can be calculated multiplying by 2 the full load current value by 460 V.

16 |

W01 Brake Motor




www.weg.net m B g

ODP - Frames 143

LL

-

& p—°)
b
AB M
-
d1l -
)
3
~ES n
o - - B
i
S— =R
—N—-W
ODP - Frames 182 up to 254
ﬂ R T
K]
n— 7 e
o — — —— +&zf §:§0€ -
= 1 L
= s—H—-r
2F ‘BA N—-W
— ¥ —] \
FC
C
DE Shaft end
Frame 2E J A P AB 2F B BA
U d1 N-W ES R S
48 4.236 1.835 6.142 6,693 5.500 2.748 3.543 2.500 0.500 1.500 1.260 0.451
W56 1.620 i 5.520
3.000 4.016
56 4.874 1.734 2.750 0.625 1.874 0.517
6.535 5.873 A3.15 1.417 0.187
56H 1.593 7.638 3.000/5.000 6.496
143/5T | 5.500 1.732 5.882 4.000/5.000 ’ 2.250 0.875 2.250 0.771
182/4T | 7.500 1.299 8.661 9.435 6.696 4.500/5.500 6.299 2.750 1.125 2.750 1.969 0.984 0.250
213/5T | 8.500 1,575 9.449 | 10965 | 7.973 5.500/7.000 7.953 3.500 1.375 A4 3.380 2.480 1.203 0.313
254/6T | 10.000 | 1.693 | 11.417 | 13.180 | 9.448 | 8.252/10.000 | 11.417 | 4.250 1.625 4.000 2.756 1.416 0.375
Frame D G HB 0 HK Hole H LL LM AA FC ©
48 3.000 1.560 5.830
0.075 2.650 3.835 3.697
W56 2.056 6.330
5 1.220 NPT 1/2"
3.500 0.118 2.629 4.563 4.090
56H 1.784 6.724 Dimension available
143/5T 0.120 2.638 0.343 4.543 4.106 — in the electric tables
182/4T 4.500 2.784 8.557 2.629 4.563 4.090
0.167 0.406
213/5T 5.250 2.982 10.144 3.022 5.551 5.250 NPT 1"
254/6T 6.250 0.187 3.631 12.010 3.645 0.530 6.299 6.017 NPT 1 1/4"

W01 Brake Motor | 17



m E g www.weg.net

TEFC - Frames 143

LL

E

— )

Ll

TEFC - Frames 182 up to 254

A —N-W

[o jy -
ol
Q
%]
T ES ‘
S— R
N—-W
DE shaft end
Frame 2F J A p AB 2F B BA
U d1 N-W ES R S
48 4.236 1.835 6.142 6,693 5.500 2.748 3.543 2.500 0.500 1.500 1.260 0.451
W56 1.620 ! 5.520 4016
56 4.874 1.734 ’ 2.750 0.625 1.874 0.517
6.535 5.873 A3.15 1.417 0.187
56H 1.593 7.638 6.496
143/5T | 5.500 1.732 5.882 3.000 ’ 2.250 0.875 2.250 0.771
182/4T | 7.500 1.299 8.661 9.435 6.696 6.299 2.750 1.125 2.750 1.969 0.984 0.250
213/5T | 8.500 1.575 9.449 | 10965 | 7.973 7.953 3.500 1.375 A4 3.380 2.480 1.203 0.313
254/6T | 10.000 | 1.693 | 11.417 | 13180 | 9.448 11.417 | 4.250 1.625 4.000 2.756 1.416 0.375
Frame D G HB 0 HK Hole H LL LM AA T FC ©
48 3.000 1.560 5.830
0.075 2.650 3.835 3.697 0.524
W56 2.056 6.330
5 1.220 NPT 1/2"
3.500 0.118 2.629 4.563 4.090
56H 1.784 6.724 0.604 Dimension available
143/5T 0.120 2.638 0.343 4543 4.106 NPT 34" in the electric tables
182/4T 4.500 0167 2.784 8.557 2,629 0.406 4.563 4.090 0.661
213/5T 5.250 ' 2.982 10.144 3.022 ’ 5.551 5.250 NPT 1" 0.761
254/6T 6.250 0.187 3.631 12.010 3.645 0.530 6.299 6.017 NPT 1 1/4" 0.830
18 | WO1 Brake Motor




“C” Flange

Motor length with break

*Brake not compatible with general use motor.

X

X
<C
iS%
Frame Flange BA AJ AK BD BF BB AH
48 FC-95 2.500 3.748 3.000 4.740 | UNC 1/4"x20 1.689
W56C | FC-149 6.468
56C FC-149 0.157 2.062
2.750 5.874 4.500 UNC 3/8"x16
56HC | FC-149 6.450
143/5TC | FC-149 2.129
182/4TC | FC-149 | 3.500 8.858 2.620
213/5TC | FC-184 | 4.250 7.250 8.500 9.401 UNC 1/2"x13 | 0.250 3.129
254/6TC | FC-184 | 4.750 11.084 3.750
Comparison between motor lengths general use motor against W01 Brake Motor.
Maximum X (inches)
Frame
ODP/TEAQ /TENV TEFC
48 - W56 3.976 4.391
56 - 56H
4.370 4.960
143/5T
182/4T 4.803 5.393
213/5T 7.559 8.385
254/6T 8.661 9.251

www.weg.net m E g

Figure 3 — Motor length with break.

WO01 Brake Motor

| 19



www.wed.net

+55 47 3276.4000
motores@weg.net
M T RS © Jaragua do Sul - SC - Brazil

Cod: 50084261 | Rev: 02 | Date (m/a): 10/2019.
The values shown are subject to change without prior notice.
The information contained is reference values.



